Product of Powers (same base)

aXeqY = gXty Add exponents.

Quotient of Powers (same base)

aX X-y Top exponent minus
— = A bottom exponent.

Power of a Power

(ax)y = g%y Multiply exponents.
Power of a Product

Z o o
(ax‘by) = 3X*2ehY*Z Multiply exponents.

Power of a Quotient

Multiply exponents.
chZ
Negatlve Exponents  giich sides, move
1 from bottom to top or
Y a4 YV=e— top to bottom and
y -a’ a ay make the exponent
positive.

Zero Exponents

a’ =1 always unless a=0
then a% is undefined.

Anything to the zero power is one except
zero to the zero power, it is undefined.
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